EEEMENR 7AH/ AT 7IFEQ

2018 £ 4 A 30 H (A)

BMEAE RITYF FTEUHIBR -
EZ: FE @B : 364

(=i BEREL ouT IN | GROSS | HDCP | NET

16| E% K 33 38 71 0.0 71.0

2| FE BB 37 36 73 0.0/ 73.0

GG E S 35 38 73 0.0/ 73.0

AL INE R 36 38 74 0.0/ 740

5|l =PUER 36 38 74 0.0/ 740

ol =L 37 38 75 0.0/ 750

Thi|#EA ERK 35 N 76 0.0/ 76.0

8 Bk B 34 42 76 0.0/ 76.0

Off|7F IEH 39 38 77 0.0 77.0

102 1L B 37 40 77 0.0 77.0

111 @5 B4 37 40 77 0.0 77.0

121 B BX N 37 78 0.0/ 780

130 E% @l 38 40 78 0.0/ 780

146N E BE 36 42 78 0.0/ 780

156 Ak B— 42 37 79 0.0/ 79.0
[FHEENEE 42 37 79 0.0 79.0
Th|E% BE 39 40 79 0.0 79.0
18178k A 38 4 79 0.0 79.0

1901 |38 E5 38 N 79 0.0 79.0

200 |FRER EE 35 44 79 0.0/ 79.0

2161| K& EA| 4 39 80 0.0/ 800

2200 iy ENHE 4 39 80 0.0/ 800

2301 EF ik 40 40 80 0.0/ 800

24067 | BF E_ER 38 42 80 0.0/ 800

2501 J\IE  AER 37 43 80 0.0/ 800

2607 | THE % 36 44 80 0.0/ 800

26 FHE =F 40 Iy 81 0.0 81.0

28 EZ 2 40 4 81 0.0/ 81.0

296 A —E 40 Iy 81 0.0/ 81.0

ML AR = 40 4 81 0.0/ 81.0
31GLEE &5k 38 43 81 0.0/ 81.0
AENTEN 43 39 82 0.0/ 820
336L|F% A Iy Iy 82 0.0/ 820
M= EA 40 42 82 0.0/ 820

350 Bif & 40 42 82 0.0/ 820

L ERII F 40 42 82 0.0/ 820
AT 39 43 82 0.0] 82 0mm&RD
38GL|FF E— 39 43 82 0.0 82.0#m%xQ
G TS 39 43 82 0.0 82.0®@mx®
40 | FHE HZ 45 38 83 0.0/ 83.0#@%x@
AR ILE EA 44 39 83 0.0/ 83.0#%05
Nz T 44 39 83 0.0/ 830

BRI AL B 4 42 83 0.0/ 830

ML ENT R N 42 83 0.0/ 830

B ER —5 45 39 84 0.0/ 840

4601 R B N 43 84 0.0/ 840

TR sEAR  EKER 4 43 84 0.0/ 840

4801 R EHE 38 46 84 0.0/ 840

L EiBE B— 45 40 85 0.0/ 850

506 HH —®K 4 44 85 0.0/ 850

SIf B B’E N 44 85 0.0/ 850

526 BEA HH 40 45 85 0.0/ 850
53G7gTE B 40 45 85 0.0/ 850
P-1 7A/ILTa—2R
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5441 8F {EXER 38 47 85 0.0 85.0
550 | FRiE  FH 47 39 86 0.0 86.0
56(i &£iF —iF 44 42 86 0.0 86.0
57461t =AK 44 42 86 0.0 86.0
5861 &H 2 41 45 86 0.0 86.0
591 2K = 40 46 86 0.0 86.0
606 =% FIIE 40 46 86 0.0 86.0
616 KE &F 50 37 87 0.0 87.0
6241 Bk IEJBER 90 37 87 0.0 87.0
634 FEH —& 46 41 87 0.0 87.0
6461+ EEXR 45 43 88 0.0 88.0
6501 #  th— 45 43 88 0.0 88.0
664L /\FE  ZBA 45 43 88 0.0 88.0
67461 Kia[N fE— 44 44 88 0.0 88.0
686 /\K EF 44 44 88 0.0 88.0
694z HH R 43 45 88 0.0 88.0
1061 Fik ath 41 47 88 0.0 88.0
JARCAN L iR e 40 48 88 0.0 88.0
1261 &% F# 46 43 89 0.0 89.0
1367 LA fsR 43 46 89 0.0 89.0
146 B RRE 40 49 89 0.0 89.0
56 BRIl =F 38 51 89 0.0 89.0
1667 7O Bt 41 49 90 0.0 90.0
IESATESE - 47 44 91 0.0 91.0
1841 #a4t  ABA 45 46 91 0.0 91.0
196 FK K% 48 44 92 0.0 92.0
80Gz| FaFt SFK 46 46 92 0.0 92.0
814z BaFt 73 44 48 92 0.0 92.0
826I| R FSE 44 48 92 0.0 92.0
836z | R %E5A 43 49 92 0.0 92.0
84 KEO IS 90 44 94 0.0 94.0
806 HH & 49 45 94 0.0 94.0
864L #JIl 93 42 95 0.0 95.0
874 HE 18X 48 47 95 0.0 95.0
884 ;EH M 43 92 95 0.0 95.0
894 TFH (ER 51 45 96 0.0 96.0
906z AR E=E o1 46 97 0.0 97.0
I | FR IEE 49 48 97 0.0 97.0
6L IE  FR— 49 49 98 0.0 98.0
9346z AR HE 48 50 98 0.0 98.0
9441 #cH EA 93 46 99 0.0 99.0
B4 B/l F— 52 48 100 0.0/ 100.0
966z BE/R & 51 51 102 0.0, 102.0
9761 XH HE 49 53 102 0.0 102.0
984 | TFH H1T 48 94 102 0.0, 102.0
94z =H RBX 50 54 104 0.0/ 104.0
10043z /vt %8 50 94 104 0.0, 104.0
101462 Rk % 52 56 108 0.0/ 108.0
N RBER & 0 -99.9 99.9
N REH = 0 -99.9 99.9
N RHE IEA 0 -99.9 99.9
P-2 7A/ILTa—2R




